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© 1] Factor completely and cancel common factors
% 2] Factors that cancel form holes in the graph. To find the x-coordinate
% of a hole, set the canceled factor equal to zero and solve for x.
= O 3] Substitute that result back in to the simplified form to find the
© 3 y-coordinate of the hole.
E = [0} 2 2 8
o o D X —
= , X —x—6
S " 1] Find any holes
I
o ! - 2] Find the vertical asymptote
O R 3]Find any zeros
! ol 4] Find the y-int (if any)

o 5] Find the horizontal or oblique B X 4x—12

i asymptote ] Y= 3

il 6] Sketch the graph X

: ‘é 0 7] Identify the domain and range
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